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General Instructions :

58/1/1

(i)
(ii)
(iii)
(iv)
)
(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Question Nos. 1-5 and 17-21 are very short-answer questions carrying 1 mark each.
They are required to be answered in one sentence each.

Question Nos. 6-10 and 22-26 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

Question Nos. 11-13 and 27-29 are also short-answer questions carrying 4 marks
each. Answers to them should normally not exceed 70 words each.

Question Nos. 14-16 and 30-32 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.

T|UT - A
SECTION - A

FfeaeT § 1 AE & 2 1

Give meaning of an Economy.

AR HOT W T S § 2 1

What

is Market Demand ?

S S IR § ghg gt €, e ST AT 1 SHaER ol el € 2 1

What

is the behaviour of average fixed cost as output increases ?

% U8 9K | 08 U W BiHd w0 HF 8l IS 59 bl €, A G (30H) H5
SRR HT &l & 2 1

What

is the behaviour of average revenue in a market in which a firm can sell more

only by lowering the price ?

T S RS 5 & F41 AfwE €2 1
What is a price taker firm ?

3EEY ANTA T § 7 Ueh WA ISTEIVT hi TErFal § THERT | 3
What is opportunity cost ? Explain with the help of a numerical example.



7. U & Hi 3 T iHd W U ST Jg Fofa F car € 5 9w 39 axg = e mmn

TR ? 3
Given price of a good, how does a consumer decide as to how much of that good to
buy ?

8. U &l {@itad ¥ HIGd UNad! eI, S el alTd S |Hid nTd ash St | 3

Draw Average Variable Cost, Average Total Cost and Marginal Cost Curves in a
single diagram.

AT Frafafas uv dae ghed= gheaniaal & U o e 8 F ™A uw e |

Note : The following question is for the blind candidates only, in lieu of Q. No. 8.
T AT T 3 aRadt A % s ey IEeRy | 3

Explain the relation between Marginal Cost and Average Variable Cost.

9. U Al R W et T g W Aifers o § SR AR o | 39 ga | sidfted @
T T AT Sl Ge I HC | GHIAT | 3

An individual is both the owner and the manager of a shop taken on rent. Identify
implicit cost and explicit cost from this information. Explain.

10. U YUiaar Wiaaiit SR | sharsi ot gt e ¥ 41 URemy b § 2 Ry |
YAt
T YR AR | FH WER 1R i @t § 2 99T | 3
Explain the implication of large number of buyers in a perfectly competitive market.
OR
Explain why are firms mutually interdependent in an oligopoly market.

11.  SFARMEE a56 5 9T ST | U SHUEE 9% 81 9 53 A & A goral F41 8T € 2
HHEATRY | : 4

Define an indifference curve. Explain why an indifference curve is downward
sloping from left to right.

12. ¥ 7 Wid 3§ W T STHIFIT 9% St 12 THE TUSAT § 519 B R R T 6 Uid 5H1¢ @l
ST € 9 39 a%] W ¥ 72 = a1 € | wiaqwe afd gR Siea G A" 96 S | @
% TH T & SMHR T {0 a5h & oI AR W feuol S | 4

When price of a good is ¥ 7 per unit a consumer buys 12 units. When price falls to
% 6 per unit he spends ¥ 72 on the good. Calculate price elasticity of demand by
using the percentage method. Comment on the likely shape of demand curve based
on this measure of elasticity. '
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13. Uit iUt %1 faw = fear & 2 36 Faw % SEr $or S 1 SHeER Sy |
HYAT
3 IE] Bt Hidl 3 uiEd= § < T g% g W e U § 2 HEEy |

What does the Law of Variable Proportions show ? State the behaviour of total
product according to this law.

OR

Explain how changes in prices of other products influence the supply of a given
product.

14. wHeTRY fo Frefefad & agq St S W R T ISl § 2
() ST @ I H ghg
(i) Qe SEgeil S ®mar § A |
Explain how do the following influence demand for a good :
(1) Rise in income of the consumer.

(i) Fall in prices of the related goods.

15. digid o SR HiEid Sl (3IH) % YR W U SRS & el ®i I GHSET |
TEifed &1 T ST |

Explain the conditions of a producer’s equilibrium in terms of marginal cost and
marginal revenue. Use diagram.

AT TrAfaias wv Faer ghed wianieaat & T asT 9@ 15 F ™A e |
Note : The following question is for the blind candidates only in lieu of Q. No. 15.

i T 3R FHid Guiia (3ITH) % SER W Uh SIS & ool a?rw‘fmm |
TfeTehT T WA T |

Explain the conditions of producer’s equilibrium in terms of marginal cost and

marginal revenue. Use a schedule.
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16. UH o] H IR G H ¢ | ST O B OO AR 9T F US A “glg” B ¥ | ISR

AT T THH TS FHT |
AT
TS %] H IR GqeF § € | 39 9] S °5 SR Ui § U 9 CHH gl § | SR
T W ITHH TS THART | 6
Market for a good is in equilibrium. There is simultaneous “increase” both in
demand and supply of the good. Explain its effect on market price.
OR
Market for a good is in equilibrium. There is simultaneous ‘“decrease” both in
demand and supply of the good. Explain its effect on market price.
qug -«
SECTION-B

17. T =X &t gt S | 1
Define stock variable.

18.  YSiITTa a&qit s g Sy | 1
Define capital goods.

19. T STrst | o ARmE ¥ 2 1
What are demand deposits ?

20. I i i g | 1
Define a Tax.

21. waifya foret fafma 2T = 3t =@re | 1

Give meaning of managed floating exchange rate.

22. WA (FF) A T THA Jod Jhg 710 HIT ;

()  SCI Tl Hi fSsht (3) 1,000
(i) i e 5 (%) 30
(iii) Feued (%) 1,000
(iv) w=gadr @rd (%) 12,000
(v) 3t = (3) 3,000
(vi) RS @i (%) 2,000
(vii) IERA I (3) 2,500
(viii) fesmt ¢ (%) 3,500 3
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7.

24,

Calculate Gross Value Added at Factor Cost :

(i)  Units of output sold (units) 1,000
(i) Price per unit of output (%) 30
(iii)) Depreciation (%) 1,000
(iv) Intermediate cost (3) 12,000
(v) Closing stock (%) 3,000
(vi) Opening stock (%) 2,000
(vii) Excise (%) _ 2,500
(viit) Sales tax (%) 3,500

31 % “Ued WU A H Hewd GHRT |
Explain the significance of the ‘Store of Value’ function of money.

IO o5k | S 95h W A J [T ST aet =107 a1Ey | I 61 TG Hisg |

Outline the steps taken in deriving saving curve from the consumption curve. Use
diagram.

At ;. TrAfatas yw Fae ghed= wdentaa & e rm s 24 S A W e |

Note

: The following question is for the blind candidates only in lieu of Q. No. 24.
STHT el THIHIT 3T S9d Fer THIehUT & are Sl aaey |

Distinguish between consumption function equation and saving function equation.

25.

26.

58/1/1

frafafea @ aa s e Fife
- AAH () ST TR = %100

g 3T ugta = 0.80
fraw = %50

Find national income from the following :
Autonomous consumption = %100
Marginal propensity to consume =  0.80
Investment = 50

THR To1e | TR FF AR TSI 4 & S 3R SeET | 30T AT |
At
[T & 3Mde § TR 91 i e THART |
Distinguish between Revenue Expenditure and Capital Expenditure in a government
budget. Give examples.

~ OR
Explain the role of Government budget in allocation of resources.

6
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28.

29,

30.

FHRUT 30 g qHEC T Ui 31 AR | Frafafaa & am w e o s e 2

(i) e TR Sas @R W =g
(i) T ERT SRR @ Wl |

Giving reason explain how should the following be treated in estimating national

income :
(i)  Expenditure on fertilizers by a farmer.
(i) Purchase of tractor by a farmer.

AT AR ST & = GHATT |
gar

FET 9% F TH B 9% H GHIRT |

Explain the components of Legal Reserve Ratio.
OR

Explain ‘bankers’ bank, function of Central bank.

WHRT Io7e § T " U | 399 1 Ul Ieidl € 2

Explain ‘revenue deficit’ in a Government budget ? What does it indicate ?

(a) TLT 311 3R (b) et TLT WEi=T A AT HiT

(FE3)
() focvl @ & o 15
(i) T=i sifqe 3o =5 600
(iii)  3T=reT ST T STHT 50
(iv) TR 3fam 3udnT =g 200
(v) foce =t fHaet Isfiar (=e]) F&aiaRoT )5
(vi) Traer a¥q Qui) sret gett fmfor 110
(vii) feset =t feet R 3ma 10
(viii) Fraer smamE (=) 20
(ix) T[& IWTH T 70
(x) W H uRadH ()10
Find out (a) national income and (b) net national disposable income :

(R crore)
(1) Factor income from abroad 15
(i) Private final consumption expenditure 600
(ii1) Consumption of fixed capital 50
(iv) Government final consumption expenditure 200
(v) Net current transfers to abroad -)5
(vi) Net domestic fixed capital formation 110
(vii) Net factor income to abroad 10
(viii) Net imports (-) 20
(ix) Net indirect tax 70
(x) Change in stocks : (=) 10
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31.

32,

Tofte sRfee H CeTfusy WT & STEaURon §HEEe |3@aﬂ$aﬂﬁﬁ ‘G TR H
wfsranait’ bt gfeer off TRy |

et
gofte sefvme & enEt BT H STaYRT YHART | 30 3% FH § 9% g0 H i o
HHART |

Explain the concept of ‘excess demand’ in macroeconomics. Also explain the role of
‘open market operation’ in correcting it.

OR

Explain the concept of ‘deficient demand’ in macroeconomics. Also explain the role
of Bank Rate in correcting it.

W«qmﬂﬁwqﬂ TR 3N GHEING HFasR & &9 3iay 9HeRy | 39 §5H o
A T © T i TR0 St THSE |

Explain the distinction between autonomous and accommodating transactions in

balance of payments. Also explain the concept of balance of payments ‘deficit’ in
this context.




